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BIHAR BOARD QUESTION PAPER  

हहन्दी माध्यम / ENGLISH MEDIUM   

INTERMEDIATE EXAMINATION - 2012 
इंटरमीडिएट ऩरीऺा - 2012 

(ANNUAL / वार्षिक)  

ENTREPRENEURSHIP  
सभम : 3 घॊटे 15 मभनट]              [ऩरू्णांक : 70 

 

SECTION A 

I. प्रश्न सॊख्मण 1 से 10 तक प्रत्मेक प्रश्न भें चणय विकल्ऩ ददमे गमे हैं, जजनभें से मसपफ  
एक सही है। आऩ उन विकल्ऩों भें से सही विकल्ऩ को चनुें एिॊ उत्तय-ऩत्र भें चचजननत 
कयें:  

 

1. एक ऩरयमोजनण है 

(a) गततविचधमों कण सभहू 

(b) एकर गततविचध 

(c) असॊख्म गततविचधमों कण सभहू हैं 

(d) इनभें से कोई नहीॊ 

 

2. ऩरयमोजनण भलू्मणॊकन के ऩहर ू

(a) तकनीकी भलू्मणॊकन. 

(b) वित्तीम भलू्मणॊकन 

(c) प्रफॊधकीम भलू्मणॊकन 

(d) इनभें से सबी 



https://www.bsebstudy.com 

 

3. तनमोजन है 

(a) रक्ष्म अमबभखुी  

(b) उद्देश्म अमबभखुी 

(c) भणनमसक प्रक्रिमण 

(d) इनभें से सबी 

 

4. आचथफक सहणमतण है 

(a) फट्टण  

(b) रयमणमत 

(c) ऩनु: बगुतणन  

(d) इनभें से कोई नहीॊ 

 

5. पे्रयर्णएॉ सॊफॊचधत नहीॊ होती हैं। 

(a) छूट के सणथ  

(b) कय से भजुतत के सणथ 

(c) फीज ऩूॉजी कण प्रणिधणन के सणथ  

(d) एकभशु्त बगुतणन के सणथ 

 

6. भदु्रर् व्मम है 

(a) स्थणमी  

(b) चर 

(c) अद्फध-चर 
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(d) इनभें से कोई नहीॊ 

7. चर रणगत कण शे्रष्ठतभ उदणहयर् है  

(a) ऩूॉजी ऩय ब्मणज  

(b) सणभग्री रणगत  

(c) धन कय 

(d) क्रकयणमण 

 

8. अॊशों के प्रकणय हैं 

(a) सभतण अॊश 

(b) ऩिूणफचधकणय अॊश 

(c) (a) तथण (b) दोनों  

(d) इनभें से कोई नहीॊ 

 

9. विऩर्न कय व्मम क्रकमण गमण धन है। 

(a) फफणफदी 

(b) अनणिश्मक व्मम  

(c) ग्रणहकों ऩय बणय  

(d) वितनमोजन 

 

10. दीघफकणरीन ऋर् ऩय होतण है 

(a) जस्थय ब्मणज दय 

(b) शनू्म ब्मणज दय  

(c) ऩरयितफनशीर व्मणज दय 
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(d) इनभें से कोई नहीॊ 

II. प्रश्न सॊख्मण 11 से 15 तक के प्रत्मेक प्रश्न भें दो कथन (कथन । एिॊ कथन II) 
ददमे गमे हैं। इन कथनों के आधणय ऩय ददमे गए विकल्ऩों (a), (b), (c) औय (d) भें से 
सही विकल्ऩ कण चनुणि कयें :  

 

(a) दोनों कथन सही हैं तथण कथन II, कथन I की सही व्मणख्मण है। 

(b) दोनों कथन सही हैं, ऩयॊतु कथन II, कथन I की सही व्मणख्मण नहीॊ है 

(c) कथन I सही है, ऩयन्तु कथन II असत्म है  

(d) कथन I असत्म है, ऩयन्तु कथन II सही है 

 

11. कथन-I : उत्ऩणद की रणगत उत्ऩणदन चमन कण एक भहत्त्िऩरू्फ घटक है।  

कथन-II : फणजणय कण तनधणफयर् उत्ऩणद चमन को प्रबणवित कयतण है। 

 

12. कथन-I : तनमोजन बविष्म से सॊफॊचधत होतण है।  

कथन-II : तनमोजन प्रफॊध कण कणमफ है। 

 

13. कथन-I : सबी ऩरयमोजनणएॉ एक सभणन होती हैं। 

कथन-II : प्रत्मेक ऩरयमोजनण कण एक जीिन कणर होतण है। 

 

14. कथन-I : जीिन उऩिभ कण जीिन-यतत है।  

कथन-II : ऩूॉजी के अबणि भें क्रकसी बी उऩिभ को चरण ऩणनण असॊबि है। 

 

15. कथन-I : उत्ऩणद रूऩयेखण कण न्मनूतभ सम्फन्ध उऩिभ की छवि से है।  

कथन-II : उत्ऩणद रूऩयेखण एक अत्मॊत सयर कणमफ है। 
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III. प्रश्न सॊख्मण 16 से 18 तक भें खणरी स्थणनों को ददमे गमे विकल्ऩों भें से उऩमतुत  
उत्तय से बयें तथण उत्तय-ऩत्र भें चचजननत कयें : 
 

16. आचथफक नीततमणॉ..........तनधणफरयत कयती हैं। 

(a) व्मिसणम की भणत्रण 

(b) व्मिसणम की ददशण 

(c) व्मिसणम की ददशण एिॊ भणत्रण 

(d) इनभें से कोई नहीॊ  
 

17. एक उद्मभी कणभगणय औय.........दोनों होतण है। 

(a) स्िणभी  

(b) तनिेशक 

(c) ब-ूऩतत 

(d) इनभें से कोई नहीॊ 
 

18. प्रत्मेक नमण व्मणिसणतमक अिसय..........होतण है।  

(a) आसणन 

(b) कदठन 

(c) अद्वितीम 

(d) इनभें से कोई नहीॊ 
 

IV. तनम्नमरखखत प्रश्न सॊख्मण 19 से 22 तक भें दो तणमरकणएॉ दी गई हैं। तणमरकण I भें 
चणय प्रश्न हैं एिॊ तणमरकण II भें चणय विकल्ऩ (a), (b), (c) तथण (d) ददए गए हैं। आऩको 
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तणमरकण II से इन प्रश्नों के मरए सही भेर के विकल्ऩ (a), (b), (c) तथण (d) के रूऩ भें 
चनुनण है : 

तणमरकण I      तणमरकण II  

19. अॊश एिॊ ऋर्ऩत्र   (a) वित्त के अल्ऩकणरीन स्रोत 

20. फैंक अचधविकर्फ  (b) ऩिूणफचधकणय अॊश 

21. सभतण अॊश    (c) भध्मकणरीन वित्त के सणधन 

22. जन तनऺेऩ    (d) वित्त के दीघफकणरीन सणधन 

 

V. प्रश्न 23 से 25 तक में एक उद्धरण के साथ तीन प्रश्न हदए गए हैं। आऩ इस 
उद्धरण का अध्ययन करें एवं प्रदत्त र्वकल्ऩों में से सही उत्तर चनुें एवं उत्तर-ऩत्र में 
चचह्ननत करें। 

 

उद्धयर् : ऩूॉजी व्मिसणम कण जीिन यतत है। इसके बफनण क्रकसी बी उऩिभ को चरण 
ऩणनण असम्बि तथण अचचन्त्म प्रकल्ऩनण है। क्रपय ऩूॉजी की भणत्रण उऩिभ की आिश्मकतण 
के अनरुूऩ ही होनी चणदहए तमोंक्रक अतत-ऩूॉजीकयर् (Over capitalisation) तथण अल्ऩ-
ऩूॊजीकयर्  (Under capitalisation) दोनों ही उऩिभ के मरए घणतक (Fatal) होते हैं। 
अतः मह सॊतुमरत अनऩुणत भें ही उऩरब्ध होने चणदहमे।  

 

23. व्मिसणम कण जीिन-यतत है 

(a) ऩूॉजी  

(b) ख्मणतत 

(c) भशीन  

(d) इनभें से कोई नहीॊ 

 

24. ऩूॉजी की भणत्रण होनी चणदहए 
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(a) आिश्मकतण के अनरुूऩ  

(b) तयरतण के अनरुूऩ  

(c) शोधन ऺभतण के अनरुूऩ 

(d) इनभें से कोई नहीॊ 

 

25. ऩूॉजीकयर् होनण चणदहए 

(a) अल्ऩ 

(b) अतत  

(c) सॊतुमरत 

(d) इनभें से कोई नहीॊ 

 

SECTION - B 

प्रश्न सॊख्मण 1 से 8 रघ ुउत्तयीम प्रश्न हैं। प्रत्मेक प्रश्न 3 अॊक तनधणफरयत है। 

 

1. उद्ममभतण को सजृनशीर क्रिमणकरणऩ तमों सभझण जणतण है ? 

2. प्रफॊध के भहत्त्ि के भखु्म कणयर् तमण हैं ? 

3. वित्तीम तनमोजन के दो भखु्म उद्देश्म तमण है ? 

4. तनमॊत्रर् की प्रक्रिमण भें सजम्भमरत विमबन्न कदभों को फतणइए 

5. पे्रयर्ण को ऩरयबणवर्त कयें। https://www.bsebstudy.com 

6. सॊगठन तमण है ? 

7. िस्तु के विऩर्न भें ऩकै्रकॊ ग कण तमण भहत्त्ि है ?  

8. स्कन्ध- वितनभम फणजणय के तमण कणमफ हैं ? 
 

प्रश्न सॊख्मण 9 से 11 दीघफ उत्तयीम हैं तथण प्रत्मेक के मरए 6 अॊक तनधणफरयत हैं।  
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9. प्रफॊध के आधणयबतू विशरे्तणओॊ कण िर्फन कयें।  

अथिण 

तनमोजन प्रक्रिमण भें प्रफॊध द्िणयण मरमे गमे कदभ तमण हैं ? 

 

10. ऩूॉजी फणजणय औय भदु्रण फणजणय भें अॊतय फतणइए। 

अथिण 

विऩर्न मभश्रर् के आिश्मक तत्त्ि तमण हैं ? 

 

11. केन्द्रीकयर् एिॊ विकेन्द्रीकयर् के फीच अॊतय स्ऩष्ट कयें।  

अथिण 

एक कम्ऩनी के रणबणॊश तनर्फमन को प्रबणवित कयने िणरे घटकों कण िर्फन कयें। 
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BIHAR BOARD QUESTION PAPER  

INTERMEDIATE EXAMINATION - 2012 
इंटरमीडिएट ऩरीऺा - 2012 

(ANNUAL / वार्षिक)  

ENTREPRENEURSHIP 

Time: 3 Hours 15 Minutes]                    [Full Marks: 70 

 

SECTION-A 

1. For Question Nos. 1 to 10 there are four options in every question. Out of these only 

one option is correct. You have to choose the correct answer from these options and 

mark in the Answer Sheet. 

 

1. A project is 

(a) Cluster of activities 

(b) Single activity 

(c) Group of innumerable activities 

(d) None of these  

 

2. Aspects (s) of project evaluation is/are 

(a) Technical evaluation 

(b) Financial evaluation 

(c) Managerial evaluation 

(d) All of these 

 

3. Planning is 

(a) Goal oriented 

(b) Objective oriented 

(c) Mental process 

(d) All of these 
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4. Subsidy is 

(a) Discount  

(b) Concession  

(c) Repayment  

(d) None of these 

 

5. Incentives are not concerned with 

(a) Rebate  

(b) Exemption form tax 

(c) Provision of seed capital 

(d) Lump-sum payment 

 

6. Printing expenses are 

(a) Fixed 

(b) Variable 

(c) Semi variable 

(d) None of these 

 

7. The best example of variable cost is 

(a) Interest on capital 

(b) Material cost 

(c) Wealth tax  

(d) Rent 

 

8. Types of shares is/are 

(a) Equity shares  

(b) Preference share 

(c) Both (a) & (b) 

(d) None of these 
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9. Money spent on marketing is 

(a) Wastage 

(b) Unnecessary expenditure 

(c) Burden on the customers  

(d) Investment 

 

10. Long term loan bears 

(a) Fixed rate of interest  

(b) Zero rate of interest 

(c) Flexible rate of interest 

(d) None of these 

 

II. In question nos. 11 to 15, there are two statements (statement I and statement II). 

Given in each question. Choose the correct option for each question out of options (a), 

(b), (c) and (d) on the basis of these statements: 

11. Consider the following statements: 

Statement-I: Cost of product in an important factor of selection of product. 

Statement-II: Market assessment effects selection of product. 

Of these statements:  

(a) Both the statements are true and statement II is the correct explanation of statement I. 

(b) Both the statements are true and statement II is not the correct explanation of 

statement I. 

(c) Statement I is true, but statement II is false. 

(d) Statement 1 is false, but statement II is true. 

 

12. Consider the following statements: 

Statement-1: Planning is related with future. 

Statement-II: Planning is a function of management. 

Of these statements: 

(a) Both the statements are true and statement II is the correct explanation of statement 1.  

(b) Both the statements are true and statement II is not the correct explanation of 

statement I.  
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(c) Statement I is true, but statement II is false. 

(d) Statement I is false, but statement II is true. 

 

13. Consider the following statements: 

Statement-I: All projects are same.  

Statement-II: Every project has a life span. : 

Of these statements 

(a) Both the statements are true and statement II is the correct explanation of statement I. 

(b) Both the statements are true and statement II is not the correct explanation of 

statement I. 

(c) Statement I is true, but statement II is false.  

(d) Statement I is false, but statement II is true. 

 

14. Consider the following statements: 

Statement-I: The capital is the life blood of any industry. 

Statement-II: In the absence of capital, running of any industry seems Of these 

statements: 

to be impossible. 

(a) Both the statements are true and statement II is the correct explanation of statement 1. 

(b) Both the statements are true and statement II is not the correct explanation of 

statement I.  

(c) Statement I is true, but statement II is false. 

(d) Statement I is false, but statement II is true.  

 

15. Consider the following statements: 

Statement-I: Product design is least concerned with the image of an enterprise. 

Statement-II: Product design is a very easy work. 

Of these statements: 

(a) Both the statements are true and statement II is the correct explanation of statement 1.  

(b) Both the statements are true and statement II is not the correct explanation of 

statement 1. 

(c) Statement I is true, but statement II is false. 
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(d) Statement 1 is false, but statement II is true. 

 

III. For questions nos. 16 to 18, fill in the blanks with appropriate answer from the 

options given and mark it in the Answer sheet. 

16. Economic policies determine ........... 

(a) Volume of business 

(b) Direction of business 

(c) Both (a) and (b) 

(d) None of these 

 

17. An entrepreneur is both a worker and .................. 

(a) Owner 

(b) Investor  

(c) Landlord 

(d) None of these 

 

18. Every new business opportunity is ............. 

(a) Easy  

(b) Difficult  

(c) Unique  

(d) None of these 

 

 

IV. In question no. 19 to 22, there are two columns. Column I contains four questions 

and column II contains four options (a), (b), (c) and (d). You have to match the correct 

options of the these questions (a), (b), (c) and (d) from column II. 

Column-1  Column-II 

19. Shares and debentures (a) Short term source of finance 

20. Bank overdraft   (b) Preference shares 

21. Equity shares    (c) Medium term source of finance 
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22. Public deposits    (d) Long term source of finance. 

V. In question no. 23 to 25, there is a passage followed by three questions. You have to 

go through the passage and choose the correct alternatives from the options given and 

mark it in the Answer sheet:  

Capital is the life blood of business. In the absence of it running of an enterprise seems to 

be an impossibility and inconceivable presumption. Again the amount of capital should 

be adequately balanced with the necessity otherwise in case of over capitalisation or 

under capitalisation both the conditions are fatal to a venture. Hence it must be available 

in a balanced proportion. 

 

23. Life blood of business is 

(a) Capital 

(b) Goodwill 

(c) Machine 

(d) None of these 

 

24. The amount of capital should be 

(a) According to need 

(b) According to liquidity 

(c) According to solvency  

(d) None of these 

 

25. Capitalisation should be 

(a) Under 

(b) Over 

(c) Balanced 

(d) None of these 

SECTION - B 
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Question Nos. 1 to 8 are Short Answer Type. Each question carries 3 marks.  

1. Why it is understand that entrepreneurship is active creativity? 

 2. What are the main reason of management importances? 

3. What are the two objectives of financial planning?  

4. Explain the variosu steps including in controlling process. 

5. What do you mean by "Motivation"? 

6. What is Organisation? 

7. What are the importance of packaging in marketing object?  

8. What are the function of stock exchange market? 

 

Question Nos. 9 to 11 are Long Answer Type. Each question is of six marks. 

9. Explain the characteristics of management. https://www.bsebstudy.com 

Or 

What are the steps taking by management in planning process? 

 

10. What are the difference between capital market and money market?  

Or 

What are the elements of marketing mixture? 

 

11. Give differences between centralisation and decentralisation.  

Or 

Explain the various elements of a company which effected the distribution of company's 

dividend? 

 

 


